
Part # 11284699 
65-70 Impala Rear CoolRide 
For Use w/ Lower StrongArms 

Components: 

2 F6781  267c Air spring 

2 A032 Upper air spring bracket 

2 A168 Upper bracket frame washer 

Hardware: 

2 7/16 x 6” stud Upper air spring bracket to frame 

2 7/16” USS Nylok nut Upper air spring bracket to frame 

2 7/16” flat washer Upper air spring bracket to frame 

2 3/8” USS Nylok nut  Air spring to upper bracket 

2 3/8” x 3/4" USS bolt  Air spring to lower arm 

6 3/8” flat washer Air spring 

2 3/8” lock washer Air spring to lower arm 

https://www.carid.com/ridetech/
https://www.carid.com/suspension-systems.html


*** For use w/ RideTech shock kit *** 

1. Apply thread sealant to an
elbow air fitting and screw it into the 
top of the air spring. 

2. Place the upper air spring
bracket on top of the air spring 
clocked so the air fitting access 
hole is next to the fitting.   Fasten it 
to the air spring using two 3/8” 
Nylok nuts and flat washers.   

3. Screw the 7/16” x 6” all thread
into the nut at the bottom of the 
bracket.  

4. Place the upper washer on top
of the coil spring pocket. 



5. Raise the assembly into the coil
spring pocket with the all thread 
sticking through the upper washer. 
Secure the assembly with a 7/16” 
Nylok nut and flat washer.  

6. Fasten the air spring to the
lower arm using a 3/8” x 3/4" bolt, 
flat washer and lock washer.  

7. Double check air spring
clearance through full suspension 
travel.   

8. Ride height on this air spring is
approximately 5” tall.  This may 
vary to driver preference.   


